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Dice Sums

Tnpse Ggallev usmLUlleT (WPEUUSSHHME QHTHEHH 0 GCoHarall
GCaLsUUREMS).

USML @@ SHOFGHID Y GWD. DG M LUSSHHRIGET 2_6TaT6 6T6TLIMS
BHILD HMIGeumLD.

ABCG, GCDE, DEFH, BCDH, AGEF LDE)Q]LD ABHF.

TLGUTHICLD @ USSSHHMDEG HIaIEG LUSSHMHRISET (B SHFHI6TN LUSHSHLONS
SI6MLOU]LD.
@hiIG ABCG & THFLILISGSHID DEFH Q) (HLD.

CDEG 6T60TLIG)] GLO6L LI&SLOM(GLD.

ABHF 6T60TLIGI &L LISSLOMGLD.
1. @ran®h aHj THiU LSESMHGH AGHSHHS LSHSMHIGETTSH MLOWTG).

(Two opposite faces cannot be adjacent to one another)

(b L1860 L uilear A\yevor(h 151696V 5 61T AmIG
QETHR&HSULL(RETETC. 6T6O0T 4 & 6THITSH 2 6T6M  6TEO0T  6T8)?
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6T6U0T 4 &(& 625 WOHMID 3 AGHHETT USHMRIGETTS 2 6TeNGIT6L,
HTETH MG 8 E: ) 3i6mLowl eumILILil6L6m6L.
eTeurGeu LBHLD 2 6iTem 1 M6 HTGTH MG THITSH 2 67T6T 6T6H0T I (SLD.

[ads1]

2. @@ usamLullar @reo(y QeusuGauml Hamevder QAasTH&HSULL(H,

Flev Queor(y eTevorSH6T @yevor(h Hlemevaflevid MLOHHIHHSHTED,
g peTemr @ TEOuSH6T 6THT THJ LUSSHHISATTS EMLOW|LD.

(If two different positions of a dice are shown and one of the two common
faces is in the same position then of the remaining faces will be opposite to
each other)

53@MmIE AesTESHsUULL @@ Hamevusaflid QUpamm eubleTearg).
1Bg Q@mLUUE) 2, 4. 6Ta0TCou QhS 2 LDHMID 4 THT THT LSS MISETT(SLD.

3. @@ usmLuiler @ueu®h CeusuGoum| MHemevser CQamBoHsULL (.
Flev @ e @uan@hmesaflid @Cr (PHUUHSGH 6L
3160L01H &) (1H1H HIT6L, LOMM [(I]:) U& &S dlevlemer 6T 6301 & 61T

B HS Hlemeoullev 2CH QL GH6L 26Tem TGS 6THY
USSMISETTS 6MLOWLD.

(If in two different positions of dice, the position of a common face be the
same, then each of the opposite faces of the remaining faces will be in the same
position)
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7

QnE @@ HameusaflIb 3 AUTGaUTs Cr QL HH6L MLDHGIETETS).

SLMGILITEL 5,6 THTLILSSHLD. 4,22 1D 6TH THJ LSHSLD.

4, e (h L1& 6D L_uil6oT @y evor(h QeueuGeaum 1516960 61T
Qer@sHsUUL B Qurgleurear  USSSHSleT  HlameomMHIUGBHSHT6L,
Cueib @Cy @ erean WL HWL alGULIGBHSTO AHG elGuULL
T GEmTQLITGI6UTET LSS SHevIemen erevorcuofledn 6THLLISELD.

(If in two different positions of a dice, the position of the common face be not
the same, then opposite face of the common face will be that which is not
shown on any face in these two positions. Besides, the opposite faces of the
remaining faces will not be the same)

QmE 1@ QLI Q@ Hmeuseafleyid CeusuGeum L GHHlev 2 eTearg).
6 LB @b eransaflev allGUL(BeTang). sTarGel 165G THIULSESHLD 6.

A dice thrown 4 times produced the following results which number will appear
opposite to number 3?
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A dice thrown 4 times produced the following results which number will appear opposite to
number 37

e®m Us@L preng wan e@lruulL Curg dmaaysar Gy sriulBerarar LsmLudld erer
3-8 erdlrna o_eneng) eTHS eTewT? i

) 6

(LPS6L LOMHMILD BT HITLD LIS eHLSeriler hlemevsenen 7B 5815
QameTGeurmid. 3 @6 LUSHSHEUTL 1960 1, 2, 6 Y Sl 6T6TIT & 61T 2_6TET 60T .
sTeoTGou LESLD 2 61Ter 4,5 ST 3 &(S 6THTIT6T 6T6vuT6vvTTS 6ul Cousuar(HLD .
LOSTMTEUG) UL F6L 385 LUSHSHEUMLIG60 5 UBFIETENST6L , 3 &

6T HJITEvT 6T 6vaT 4.

Answer =(A) 4

Previous Questions & Model Questions:

1. What number is opposite to 4? 4@)\60T 6TSHJTS 2 6IT6NT 6T600T?
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a.l1 b.2 c¢.5 d.6
Answer: a

2. Two portions of a dice are given below. When 1 is at the top,
which number will be at the bottom?

a.3 b.4 c¢.5 d.6
Answer: d

3. In a die given below the number opposite to the number 2 is

5 4 3

a.6 b.5 c¢c.4 d.3
Answer: b

4. Consider the following dice Which is opposite to 3?

SRty

a.1l b.4 c¢.5 d.2

Answer: b
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5. Three views of a cube are given below. What is the letter
opposite to A?

D &

a.Hb.Pc.Bd. M
Answer: a

6. Which digit will appear on the face opposite to the face with
number 47?

. 6
3 3
1 5
A. 3
B. 5
C. 6
D. 2/3

Answer: Option A
Explanation:

Here the common faces with number 3, are in same positions.
Hence 6 is opposite to 2 and 5 is opposite to 1. Therefore 4 is
opposite to 3.

7. Two positions of a dice are shown below. Which number will
appear on the face opposite to the face with the number 5?
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3 3
2 B
1 2
A. 2/6
B. 2
C. 6
D. 4

Answer: Option C

Explanation:

According to the rule no. (3), common faces with number 3, are
in same positions. Hence the number of the opposite face to
face with number 5 will be 6.

8. How many points will be on the face opposite to in face
which contains 2 points?

>
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D. 6
Answer: Option D

Explanation:

In first two positions of dice one common face containing 5 is
same. Therefore according to rule no. (3) the face opposite to
the face which contains 2 point, will contains 6 points.

9. Which number is on the face opposite to 6?

m] &) 5 1
3 : 2 # & * < =
A. 4
B. 1
C. 2
D. 3

Answer: Option B

Explanation:

As the numbers 2, 3, 4 and 5 are adjacent to 6. Hence the
number on the face opposite to 6 is 1.

10. Two positions of a dice are shown below. When number 'l’
is on the top. What number will be at the bottom?
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4 4
= 5
1 6
A. 3
B. 5
C. 2
D. 6

Answer: Option B

Explanation:

According to the rule (2) when 'one' is at the top, then S will be
at the bottom.

11. Two positions of a cube with its surfaces numbered are
shown below. When the surface 4 touch the bottom, what
surface will be on the top?

1 1
o 6
3 5
A. 1
B. 2
C. 5
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D. 6
Answer: Option A

Explanation:

In these 2 positions one common face with number 1 is in the
same position. Hence according to the rule number (3), 2 is
opposite 6 and 3 is opposite to 5. Therefore opposite to 4 is 1.

12. Two positions of a cubical block are shown. When 5 is at
the top which number will be at bottom?

1 5
3 3
4 2
A. 1
B. 2
C. 3
D. 4

Answer: Option C

Explanation:

In these 2 positions one common face with number 3, is in
same position. Hence according to rule (3), 1 is opposite to 6
and 4 is opposite to 2. Therefore 5 is opposite to 3.

13. When the digit 5 is on the bottom then which number will
be on its upper surface?
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1 5
4 6
2 2
A. 1
B. 3
C. 4
D. 6

Answer: Option A

Explanation:

According to the rule no. (3), common faces with number 2 are
in same positions. Hence when the digit 5 is on the bottom
then 1 will on the upper surface.

14. From the positions of a cube are shown below, Which letter
will be on the face opposite to face with 'A'?

A, 2, D B

>
o

&
w
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o

11 | www.winmeen.com | Paid Copy — Don’t Share With Anyone



javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

Winmeen VAO Mission 1001|2018

D. F
Answer: Option A

Explanation:

The letters of the adjacent faces to the face with letter A, are B,
F, C and E. Hence D is the letter of the face opposite to the
face with letters (A).

15. Two positions of a dice are shown below. When 3 points
are at the bottom, how many points will be at the top?

A. 2
B. S
C. 4
D. 6

Answer: Option C

Explanation:

According to the rule (2) when 3 points are at the bottom then
4 points will be at the top.
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